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What is the coefficient of x3y4 in (2x + 3y2)5 ?

A. 240

B. 360

C. 720

D. 1080
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A. C(12,7) x3y−3

B. C(12,6) x-3y − 3

C. C(12,7) x-3y − 3

D. C(12,6) x3y − 3
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B. C(12,6) x-3y − 3

C. C(12,7) x-3y − 3

D. C(12,6) x3y − 3
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The coefficients of xm and xn , where m and n are positive integers, 

in the expansion of (1 + x)m + n  are

A. equal 

B. equal in magnitude but opposite in sign 

C. reciprocal to each other 

D. in the ratio m : n
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A. a prime number 

B. an even number 

C. divisible by 5 

D. a power of 3
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The natural number 610 − 51 is

A. a prime number 

B. an even number 

C. divisible by 5 

D. a power of 3
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What is the coefficient of x3  in ( 3 – 2x ) / ( 1 + 3x )3 ?

A. −272

B. − 540 

C. − 870 

D. − 918



NDA 1 2025 – LIVE CLASS – MATHS – PART 2

What is the coefficient of x3  in ( 3 – 2x ) / ( 1 + 3x )3 ?

A. −272

B. − 540 

C. − 870 

D. − 918
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If n is even, then the middle term in the expansion of                  

is 924x6 , then n is equal to

A. 10 

B. 12 

C. 14 

D. None of these
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If n is even, then the middle term in the expansion of                  is 924x6 , 

then n is equal to

A. 10 

B. 12 

C. 14 

D. None of these
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If the 4th term in expansion of                    is independent of x, 

then n is equal to 

A.  5 

B.  6 

C.  9 

D.  None of these
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If the 4th term in expansion of                    is independent of x, then n is 

equal to 

A.  5 

B.  6 

C.  9 

D.  None of these
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If in the expansion of (1 + x)n , the coefficient of rth and (r + 2)th 

term be equal, then r is equal to

A. 2n

B. (2n + 1) / 2

C. n / 2

D. 2n − 1 / 2 
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If in the expansion of (1 + x)n , the coefficient of rth and (r + 2)th term be 

equal, then r is equal to

A. 2n

B. (2n + 1) / 2

C. n / 2

D. 2n − 1 / 2 
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In the expansion of                    then the term containing x4 is

A.  70x4 

B.  60x4

C.   56x4

D.  None of these
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In the expansion of                    then the term containing x4 is

A.  70x4 

B.  60x4

C.   56x4

D.  None of these
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The total number of terms in the expansion of 

(x + a)100 + (x – a)100  after simplification will be

A. 202 

B. 51 

C. 50 

D.  None of these
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The total number of terms in the expansion of (x + a)100 + (x – a)100

after simplification will be

A. 202 

B. 51 

C. 50 

D.  None of these
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What is the coefficient of x4 in the expansion of                ? 

A. −16

B. 16

C. 8 

D. −8 
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What is the coefficient of x4 in the expansion of                ? 

A. −16

B. 16

C. 8 

D. −8 
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What is the term independent of x in the expansion of                                          ?  

A. 1 / 3 

B. 19 / 54 

C. 1 / 4 

D. No such term exists in the expansion
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What is the term independent of x in the expansion of                                          ?  

A. 1 / 3 

B. 19 / 54 

C. 1 / 4 

D. No such term exists in the expansion



NDA 1 2025 – LIVE CLASS – MATHS – PART 2

For all n ∈ N , 24n − 15n − 1 is divisible by

A.  125 

B.  225 

C.  450

D.  None of these
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For all n ∈ N , 24n − 15n − 1 is divisible by

A.  125 

B.  225 

C.  450

D.  None of these
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What is the number of terms in the expansion of 

(a + b + c)n , n ∈ N ?

A. n + 1

B. n + 2

C. n(n + 1)

D. (n + 1)( n + 2)/2
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What is the number of terms in the expansion of (a + b + c)n , n ∈ N ?

A. n + 1

B. n + 2

C. n(n + 1)

D. (n + 1)( n + 2)/2
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If ( 1 – x + x2)n = a0 + a1x + a2x2 + … + a2nx2n, then 

a0 + a2 + a4 + … + a2n is equal to 

A. (3n + 1) / 2 

B. (3n − 1) / 2  

C. (1 − 3n) / 2  

D. 3n  +  1/2
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If ( 1 – x + x2)n = a0 + a1x + a2x2 + … + a2nx2n, then a0 + a2 + a4 + … + a2n is 

equal to 

A. (3n + 1) / 2 

B. (3n − 1) / 2  

C. (1 − 3n) / 2  

D. 3n  +  1/2
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